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A2 Solving Exponential & Logarithmic Equations Day 2

Logic: another thing that
penguins aren’t very good at.



HW:



2 Types of Exponential Equations:

1. a" = b, where a and b are integral powers of the
same number

ex: 27° =9

2. @' = b, where a and b are NOT integral powers of
the same number

ex:3'=5




REVIEW:

ex: Solve.

273.\‘—7 - 8 1]2—3.\‘

3 (3%-"’3___ 30' 0 - -.3><\

5
wzzs(-.;l = 43—

Alx-21= 43
Qlx= 7

x:g‘\?\—_&,{’-



Type2

ex: Solve.

a)3"'=5)C / 5

log 3 = 79

ylpaZ=104> m
3 g2

~ x:} S



ex: Solve. Ine; (

b) e =10 Iﬂ[:;[)
Ine™ =IO

(x+D) = InlO Chach

7
X= =] % (D e 93:'/9
X= (s 0B3 Qm



ex: Solve.




ex: Solve.

) 2-10%° =3 =37
log ID*”"%2>C
(x-W‘— leg= L

— DaQ-D
x—gz/.sb\
Y= H.30)



ex: Solve.



REVIEW: Evaluate.

a)logB(éJ

log36
log6

b)

9 log, (-8)

d) log0



Domain of Logarithmic Functions

y=log, f(x)
Domain: 4~ () = (O

ex: State the domain in set notation.
a)y= log X—= >0

{x)x>(\}



ex: State the domain in set notation.
b) y=3-In(-x)
=% 7 e
gx | X < D\}

Q) y=10g9(12+9) X +q > D



Solving Logarithmic Equations

Two Types:
1.1 Logarithm

ex: 2-log,(x+1)=4

2. More than 1 Logarithm

ex: log,(x* =3)=log,2+log, x

When solving type 1 or 2, rewrite the equation with ONE
TERM on each side of the equation.



ex: Solve.

1
a) log36x+5=2

logg x = =
Zl

<Y

X= 3

(/32 )= G =t



ex: Solve.

4210/?()8 —4)4;\13&2 (3x)

=4 = BK
X‘z.; BX_L{ :_O
(x—A(<+N= 0O



ex: Solve.

o log,, (4} -5)-log;, (2}'— 1)=0

Yx-5 = D
Mot =,
GRS :k qX’SZQX"—I
SX-| a)(:‘-l



condense

ex: Solve.

d) log2(4x—5)142(2 -1)=3
g, 5= 3
7T Z '

———

—:gl(;'i Lo 8(9\)(-’/) )(; Lj
Uy-¢ = (bx =% ﬁ
A3 = \ X




ex: Solve.

e) logl8-log3x =log2

jBx""/ =

1S _ .3
%;4"9\%

18 =
=



ex: Solve.

f’@j e




ex: Solve.

h)fl?? mgl
)

=

X-2=
X:

2
o |1

() log, %+ Joa, (e =2
la, x(x+3)= 2

éég%imhingl

7( +X=h
7( +A%-4 - =0
(x+x-N= Y

X’><{



